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Philosophy
Paper II

R RN
gyutrent I1

Time Allowed : 120 Minutes] [Maximum Marks : 200
Note : This paper contains Hundred (100) multiple choice questions. Each question

carrying Two (2) marks. Attempt All questions.

AT ;A1 YU TRU WIWT (100) FIg9aiE W ok ofRd. Uod WeAlen 9 (2)
0 ARd. T YA WIS

1.  Match the pairs : 1. SiEn e

Name of the system ESEICEIC]
(i) Sankhya G) A
(ir) Vedanta (i) éﬁﬂf_ﬂ
El_u)) Nyaya (iii) =
) Pu imamsa )

urvmimamsa (@)
Name of the founder/
B TR /GAhRTe AT
Sutrakara

(@) Jaimini (@)
(b) Kapila (b) iU
(c) Badarayana (c) eI
(d) Aksapada (d) 31&IqIe
Choose the correct option : A Tl e

@ @) @) Gv) @ G) Gi) Gv)
A b)) © @ (@ A b © @ (@
B) © b @ (@ B) © b @ (@

3 [P.T.O.



According to Katha-Upanisad Yama
granted three boons to Naciketas.
Naciketas did not ask the following
boon :

(A) Let Gautama be pleased in
mind and forget his anger
against Naciketas

(B) The fire by which heaven is
gained should be known to
Naciketas

(C) Naciketas should live as many
years as he chooses and attain
heaven after death

(D) Some say the soul exists after
death of a man; others say it
does not exist. Naciketas should
like to know this as instructed
by Yama

According to the revised view of

Carvakas soul is identical with :

(A) four gross elements

(B) body

(C) body qualified by consciousness

(D) sense organs

Following systems do not accept

Verbal Testimony as an

independent pramana :

(A) Carvaka, Buddhism, Jainism

(B) Carvaka, Buddhism, Vaisesika

(C) Carvaka, Vaisesika, Nyaya

(D) Carvaka, Buddhism, Sankhya
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F-SUMORITHR FHA Ffeehdlel o s

TS ol Afaehar Jeterea el Aei—

(A) M 79 et = e
Afeehdreiia T T

(B) ¥ 3T YT B, e
Afeehaer IE =/©

(C) Afeha & fadert o8 wa o

ool oo T e

(D) FTRISTY UM AIUE  Hedmel

e e eEdl W T

U okl ST ARd AHa

e JE Afghdrar THTEATD

UM THesrd
TRl GHTRA SeehMIHR AT &1
Gl SISl Thed STl
(A) IR e
(B) IR
(C) =aafafite IR

(D) THEH

Teitel S IEYHII & T&sl YA W
wieRd @M :

(A) =mEis, dig, SF
(B) =i, WG, o9t
(C) =matsh, S9ifteR, =™

(D) =rdieh, WG, 9




What can be the examples of five-
sensed mobile Jivas according to
Jainism ?
(A) Microorganisms
(B) Ants
(C) Worms
(D) Human beings
Match the pairs :
Four causal categories
(1) Only creator, not created
(2) Creator as well as created
(3) Only created
(4) Neither creator nor created
Sankhya principles which
come under it
(@) Purusa
(b) Class of 16 : Five gross elements,

five senses, five motor organs

and manas

(c) Class of 7 : Buddhi, Ahamkara
and five Tanmatras

(d) Mulaprakrti

Choose from the following options :
o 2 6 @

A b)) © @ (@

(B) (@ (@ b)) @)

) © @ ) (@

D) d) @ b)) (@)

APR - 12224/T1—A

SR THfsd S-Sl 3T
FT T TR ?

(A) H&H Sfremoy

(B) Hr=
(C) fwe

(D) HEHTO
Stre Sogdl

TR HITR et
(1) e FRU, FE TR
(2) RO 7T R
(8) weRl wHHE

(4) FRUE ATEl, A

™ ofatia AU W' O

(@) 9=H

(b) W@ a-5 FWEHd, 5 T, 5
FHHfsd e7for 7

(c) 9=l F-9fG, FEHR T 5 THH

(d) HAYHdl

T qHERE fee wu
1 2 B @

A) ®) (© ) (@)

B) (@ @ b)) @)

©C) © @ b)) (@

D d @ ®) (@
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In the five-fold classification of

Cittavrttis the following is not

included by Patanjali :

(A) Pramana

(B) Svapna

(C) Smrti

(D) Nidra

According to Nyaya, Tarka is :

(A) An independent pramana

(B) Reducible to inference

(C) Hypothetical reasoning used for
confirming pramana

(D) Method of refutation

Consider the following statements

about the Vaisesika theory of atom

(Paramanu) :

() An atom has circular shape

(i) Atoms of all Mahabhutas have
the same qualities

(i11)) There are three atoms in one
Tryanuka

(iv) Atoms and Dvyanuka cannot be
seen by ordinary perception

Choose among the following

options :

(A) (@) and (iv) are true

(B) (@) and (i7) are true

(C) (i) and (iti) are true

(D) All the statements are true

APR - 12224/11—A
feegdten gafay aefierond qaste

el TS THEYT holell A8l @

(A) gHOT

(B) &=

(C) =l

(D) =1

W?’h’l’fl’r{ T

(A) T TF T T ME
(B) STHHMM HHIfS Tl Adl

(C) YHIIAT Y&t SUAHIST ALl ST
Tt Fferieng STEdl

(D) & TSTaEdl ot

faum foeR@ =

(i) TRH] URASARR STE

(i) FATEIA U] THERE O
AT

(ii) R AT I TRHTY] ST

() T ST EAVE WA T&TH
feq vra G

Tt gaEa fae &a .

(A) () & (v) T 3

(B) (@) &A1 (i) ¥ TR

(C) (30) =AM (3ii) T Aea

(D) ¥d faum w= omd




10.

11.

12.

Prabhakara’s view about the

relation between word-meaning and

sentence-meaning is known as :
(A) Anvitabhidhanavada

(B) Sphotavada

(C) Apohavada

(D) Abhihitanvayavada

The opposite that is not included in
the list of 10 opposites stated by

Pythogoras is :

(A) Limited and Unlimited
(B) Odd and Even

(C) Right and Left

(D) Right and Wrong

According to Socrates knowledge is

acquired through :

(A) Perception

(B) Faith

(C) Both perception and concepts

(D) Concepts

10.

11.

12.
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e s SR AreAde Seere

SEdid F9ERTE giteswha a1 @M

BT Sal—

(A) HAf=aiyEreT
(B) ¥hieaTg
(C) FdrEaR
(D) fAfEar=TaT

YRIETIRE Yfaue sheledn e fadar=n
Tfed g Fqoe oy Buei—

(A) Haifea amfor eTHaifed
(B) fowmg anfn 99
(C) 3o i B/

(D) I oA Ay

(A) TIg
(B) g&1
(C) yoIey oo oIgl <=l

(D) Fehed
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13.

14.

15.

Plato’s ............. illustrates the path

from ignorance to enlightenment.
(A) Parable of the Good

(B) Simile of the sun

(C) Allegory of the cave

(D) Apology

“Universals are not independent
entities. They exist in particular
objects rather than in a separate

realm”, is the view of :
(A) Plato

(B) Aristotle

(C) Hegel

(D) Heraclitus

“I know that I am, I also know that
I know. And when I love both to be
and to know, then I add to things
I know a third and equally important
knowledge. The fact that I love.” This
is stated in “City of God” by ........

(A) St. Augustine
(B) Descartes

(C) St. Anselm
(D) Thales

14.

15.
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FAMIREA Udhe

SO AR TI6 SR,

(A) =T SER

(B) gAf= 3

(C) T&d ®UH

(D) W

I I 9 TRl | ST,

ST SR T&ara X ferfree sqqa=
sifeqeard sTwaE. ' @1 gftesa ofmR

(A) =
(B) sifeeted
(C) =
(D) feifereteq,

el & ¥1d 38 &l |l 3R, 3 € &
TA STE i Wl IH 8. e ST
0T = 9 3790 § Siel Hell e,
g1 Hl T AT ST HevaTe el
AEET SR ATl i HAl AESd w
FEgreet e’ TRl offw Tie! 9m
% TluRd el 3%

(A) T2 e

(B) &

(C) ¥ =™

D) &=\




16.

17.

18.

Which of the following is applicable

to Descartes ?
(A) “It doubt” cannot be doubted

(B) “I doubt” can be doubted

(C) “I doubt” can be doubted

sometimes

(D)

“T exist therefore God exists”

According to Leibnitz, the necessary

and eternal truths are known
by :

(A) Sensation

(B) Intuition

(C) Mystic experience

(D) Reason

Berkeley said his house continued

to exist even when he wasn’t

perceiving it, because :

(A) The substance does not depend

on the properties

(B) He was thinking of it

(C) God perceived it

(D) The house was invisible

16.

17.

18.
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AT I QeI HeHid em
EE

(A) T HYE wE! B A S
HIA Iq AR

“ot gy ! ' o wEE
I TR

“t gy weal’’ s fowE el
FHE TIE U@ T

Yt srfedcard eR WA SveR
S s’

A foTeTe HaTTHI, ATamd Ao Seea

(B)

(&)

(D)

(A) Hoe
(B) 21d:¥=m
(C) Tt

(D) dsl
Sehcl 3TH TBUIAI ohi BT ST{9E Bd

TEAT 5T M ¥ Taqd ST 318,

(A) 3 ¥ TUEHEE S AEd

(B) 9 ==n fomm wdq

(C) e = UoIe I B ST

(D) *R 3{TA 3T

[P.T.O.



19.

20.

21.

According to David Hume, the
fundamental difference between

impressions and ideas is :

(A)

Impressions are innate, ideas

are not

(B)

Impressions are real and ideas

are imagination

()

Ideas are more vivid and

forceful than impressions

(D) Impressions are more vivid and

forceful than ideas

According to Kant ............

empirical concept from sense

experience.
(A) Space
(B) Colour
(C) Taste
(D) Material objects

The concept of Svadharma is like :

(A)

Mill’s utlitarianism

(B) Kant’s deontological ethics

(C) Bradley’s idea of “My station

and its duties”

(D) Bentham’s Hedonism

19.

20.

21.
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Sfegg gH=l WAER, 3§ A0 Hed

AN GAYd 98 FH G oo

(A) BH 3 A, Heal 7 T AR

(B) oY dATds STHA S0 SHedl &Il
hTCAfTeh  STHAT

(C) e ST S T 3701 J&r
AT

(D) B8 FHeqAraer 31feeh Towe 7o Jer
A

S FATE AT

ool squfass Wehed 1 e

(A) SHTRTI

(B)

(C) ==

(D) “fifdsw a&

YA Hehoudl HYMERE] 378 ?

(A) THEET=N SYFRIAmEG
(B) =hieg™ deFa@E] SRS

(C) sisci=n * vl e o =t shaed !
B e

(D) ST FEETR

10
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22. In Indian ethics purity of means is | 22. AR RS ERIfed= 3L hrofl
insisted by : 121 |
(A) K. C. Bhattacharya (A) . €. Y=
(B) M. N. Roy (B) TH. T4. U9
(C) J. Krishnamurti (C) . FHeuml
(D) Mahatma Gandhi (D) HETHT et
23. In the Bhagavadgita, | 23. WTaSIIdd TEeeargqrnl, feudud
Sthitaprajia is said to be like : aoal ?
(A) Tortoise and ocean (A) wrEd oo HHx
(B) Tortoise and cow (B) s AT M
(C) Ocean and stream (C) wHg MfoT el
(D) Tortoise, cow and ocean (D) =hrEE, TMH AT HHR
24. The concept of ‘Rta’ is closely | 24. '*&d' & HeHewal HIUcdl Heheu 2
related to the concept of : frfea e ?
(A) Dhyana (A) &M
(B) Samadhi (B) Feedt
(C) Satya (C) 9949
(D) Asteya (D) &=
25. The concept of Brahmaviharas as | 25. safagrr=t #fe HWweudr I
Maitri, ete. is stated in : e ?
(A) Yoga as well as Buddhism (A) =M o aﬁ?{\%l'l?:ﬁﬁ
(B) Yoga as well as Carvaka (B) ¥ 9 =@i® awEsEae]
philosophy
(C) =dieh AReRHER
(C) Carvaka philosophy
(D) Bhagavadgita D
11 [P.T.O.



26.

27.

28.

Kaivalya is Sadhya, in Patanjala -
Yoga and Sadhana is :

(A) eightfold

(B) as we wish

(C) God’s wish

(D) accidental

Jainism maintains that the goal of
life is :

(A) Dharma

(B) Artha

(C) Kama

(D) Moksa

Kama 1is the fruit of :
(A) Artha and Dharma
(B) Artha and Moksa

(C) Dharma and Moksa

(D) Dharma, Artha and Moksa

26.

27.

28.
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USRI WIE 318 sheaed S0 HIEH
AR

(A) 3T

(B) &raet wsil

(C) Twai==i

(D) ATG=geh/3TTeh &

SHAAER Sae S (FeT) B9

(A) =¥
(B) =19
(C) &M
(D) =&t

FHH T HIE HeB A ?
(A) 4 3 oA

(B) Hd =9 Hiw

(C) =& 7 =i

(D) #H, &1 9 Wy
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29. Match the pairs : 29. Sl ool :
List I Tt 1
(@) Yajnavalkya (@) TRETH
(b) Lord Krsna (b) WEE TR
(¢) Yama () =™
(d) Uddalaka (d) SEETH
List II '{:Eﬁ‘ II
(1) Nachiketa G) =fasa
W) Gargi @) T
(Tir) Svetaketu i) Ea_d@@
(fv) Arjuna
(iv) TS
(@ b)) () (@ @ & © @
&) ) ) @ A) @) @) GiD) )
B) @) @ @ @) B) G) Gv) G Gi)
©) @ @ Gv) @D (C) @) @ Gv) Gu)
D) @ @) @) @) D) @ Gv) ) @)

30. Which hedonistic dimension gets | 30. ‘‘3T</= Shgdt Iar= HRUaT X'’ &
highlighted by a dictum “Pigeon of T Rl o [UTClT ﬁq FTEREd
today is better than a peacock of Bral ?
tomorrow” ? (A) HEE
(A) Fecundity (B) SeqrEehal
(B) Propinquity ©) T
(C) Certainty
(D) Purity D) e

13 [P.T.O.



31.

32.

33.

34.

The term ‘Right’ is derived from
(A) ‘Rare’

(B) ‘Retina’

(C) ‘Rain’

(D) ‘Rectus’

Reformative theory of punishment

is also known as .................
(A) Preventive

(B) Logical

(C) Educative

(D) Philosophical

Which,

philosophers, is not moral definist

among the following

philosopher ?

(A) Mill

(B) Bentham

(C) Moore

(D) Spencer

Which of the following are types of

Deontological theories ?
(A)
(B)

Moral and non-moral

Philosophical
philosophical

and non-

()

Act-deontological and rule-

deontological

(D)

Traditional and modern

31.

32.

33.

34.
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(D) dAHIHS

T dRaiieh! IV Hide ATEAER]
e e ?

(A) e

(B) «igH

(C) |

(D) TR

Eecden] S 3UOT FHdaaR!

SUTIT=T Yeh{Ueh! 378 2

(A) Afge enfor 9-Afa=w

(B) dwaMcHeh AT F-axadMicHes

(C) FHdl-hazar! Mt FHem-Fhieaar]

(D) 9RHRER ST Mg

14



35.

36.

37.

38.

Whom according to the following
thinkers, “the study of what is right

or good in conduct is Ethics” ?
(A) Mackenzie

(B) Muirhead

(C) William James

(D) Sidgwick

The principle of “Tit for Tat” is
included in ..............
(A) The Deterrent theory
(B) The Reformative theory
(C) The Retributive theory
(D) The Naturalist theory

“It is worse for a man to do wrong

than to suffer wrong” is a statement

(A) Socrates

(B) Plato

(C) Aristotle

(D) Anselm

Bentham’s Hedonism is ............. .
(A) Quantitative

(B) Qualitative

(C) Cognitive

(D) Rational

35.

36.

37.

38.
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wEAd ST HUTET faaRg argEn
“ TifaeIRS TSt AR S AN ey

I E A A ?
(A) Hepwsht

(B) &S

(C) fafeem =

(D) fafsen

......................

(D) frerfarT S99

‘Fge Tl A BIUATIET SR Tl
F0 AR AR AL T weH I
M :

(A) Hishiew

(B) w=idl

(C) sifterea

(D) ofTeH

SgTET gEER ST T

(A) FEITHh

(B) TomcHR

(C) AR

D) e

15
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39.

40.

Match the List-I of authors with the
List-II of philosophical work done by

them and mark the correct code :

List I
(@) G. E. Moore
@) A. J. Ayer
(iir) C. L. Stevenson

(v) R. M. Hare

List II

(@) Language of Morals
(b) Principia Ethica
(c) Ethics and Language
(d) Language, Truth and Logic
Codes :

@)
(A) )

(i0)
(c)
(b)
(d)

(279)
)
(@)
(C) ®) ) (a)
D) (e (@ ()

Prescriptivism as a metaethical

(tv)
(@)
(B) ) (c)

(d)

theory is propounded by :
(A) Moore

(B) Ayer

(C) Stevenson

(D) Hare

39.

40.

APR - 12224/TT—A
U9 wreshrEl = 1 o e g
T 11 T Sre Sese AT Ay
Hehdish feren -

e 1
@) St g W@
() T S TN
Gii) H. T fewe
(lv) AR, TH. R

=t 11
(@) oA AR A
) Tufafoen ufeem
() TR T s
d) < 2 T s
Hehdioh

@)

(A) )
(B) @)
(C) ®) © (a)
D) @ @ (@ b
HSITETE A1 ARSI SUUI= 9IH
TR A Shell
A) T
(B) @
(C) fe=w
(D) ¥R

(i)
(c)
(b)
(d)

(ii0)
®)
(@)

(tv)
(@)
(c)

16



41.

42.

43.

44.

J. Krishnamurti highlights human :

(A) Sensitivity, Novelty, Creativity

(B) Subjectivity as well as
objectivity

(C) Rationality

(D) Rationality and objectivity

According to Vivekananda, Maya is

a convenient name for the fact of :
(A) Negation

(B) Contradiction

(C) Conjunction

(D) Separation

Both Igbal and Radhakrishnan

attempted to reform :

(A) Religions

(B) Regions

(C) Sciences

(D) Languages

According to K. C. Bhattacharya,

philosophical judgements are :
(A) Literal

(B) Symbolic

(C) Partial

(D) Uncertain

41.

42.

43.

44.
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S, FEOET SAERfEd wAE

(A) Fogeiied, Tgadl, Feeied
(B) =fafroaar emfor agfaaret

(C) dfguraT™

(D) FiGUHTE o el
fodeRar=n W, A ¥ WRiR 99 TR
afrdr=a .

(A) THRIHF

(B) forme=

(C) HImm=

(D) fermm=

ST o UTHSE AT HIve &
GYURUM ST S0 YIS hell ?
(A) =

(B) W

(C) fomm

(D) 9T

F. H. TEIErEiEr RUTIT{ER
Areliel 9l el s ?
(A) =TT

(B) WdlehTcHeh

(C) TeTHsh

(D) A=
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45.

46.

Match the columns :

List I
(@) Mahatma Gandhi
(b) K. C. Bhattacharya
(c) Igbal
(d) J. Krishnamurti

List II
(1) I am the creative truth
(1) Truth is God
(zii) Truth is a pathless land

(fv) Truth is absolute as known

(@ ) (© (@

(A) Gv) @)
B) @ @
(C) @) @v)

@) ()
() (1)
@) @)

D) @G Gv) @ @)

In his book “Brahmananche Kasab”
Jyotiba Phule exposed the issue of :
(A) Exploitation by the Priest class
(B) Exploitation by Rulers

(C) Exploitation by the British

(D) Exploitation by the traders

45.

46.

APR - 12224/T1—A

el ool

T g
(@) wET e
®) . . =T
(c) A
(d) . FOH

e gHu
G) I HeEid 6
(i) WA B TR
(i) Ha & vgfagE o
(iv) T § S shael
(d)

(@ b)) (o

A) @) @)
B) @) O
(C) @) Gv)

@) ()
() (@)
@) @)

D) @ Gv) @)

(12)

“rRroTe wEE’ AT STaedT ISR

..................

el Fel AT
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47.

48.

49.

S. Radhakrishnan and Iqgbal
highlight the significance of :

(A) Theism and Atheism

(B) Intellect and Intuition

(C) Scepticism and Agnosticism
(D) Gnosticism and Agnosticism

What, according to Sree Narayan

Guru, does Spirituality mean ?
(A) Service to Nation

(B) Service to Weaker Section
(C) Service to farmers

(D) Service to mankind

According to Gandhi, the ultimate

aim of Satyagraha is :
(A) Eradication of Bad Government
(B) Eradication of Evil tendencies

(C) Eradication of Bad person

47.

48.

49.

APR - 12224/T1—A

q. QU F SHIE HIVTE HEW

JURfEd a2

~

BEFEECIH

(A) I d

(B) Scfavm & sia
(C) WIERE 9 3RIaR
(D) TFARE 9 IFHIAR

AR & A= HATTER ST e
‘%’UT@I i
(A) TZEE

(B) ga& W@t e

(C) Iah=gr=n Ta

(D) AFESTEET Eal
=1 HAgER IR Sifad 3

(A) TEC Wa&RE I=HEEA

(B) 399 Sed1eA

(C) TR T S=HeA

(D) Eradication of enemies (D) ¥ S=AreA
50. Jyotiba Phule was greatly | 50. =ifden Hdl ITAER AT T A=A
influenced by Thomas Paine’s idea | oo q o= YEE GUE Bl
f: .
0 (A) Teram sAsR
(A) Rights of women .
(B) ¥dshard SAHHR
(B) Rights of farmers ‘
(C) Rights of untouchables ©) ° i
(D) Rights of man (D) AT AT
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51.

52.

53.

54.

According to Frege, the sense of a
sentence is the :

(A) Object it denotes

(B) Truth-value it bears

(C) Thought it expresses

(D) True object

In Moore’s view, which among the
following statements is the most
basic proposition ?

(A) Material substance exists

(B) Mental substance exists

(C) God exists

(D) Body exists

Wittgenstein in his Philosophical

Investigation shows the apparent
uniformity of words with the

example of :

(A) Tool box

(B) Locomotive engine
(C) Five red apples

(D) Pictorial model
According to Ayer, the nature of

knowledge is :

(A) A unique mental state
(B) Dispositional

(C) Verbal

(D) Intuitional

51.

52.

53.

54.
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®wIU=AT Ha, wermEr faemarar eref
BN

(A) TRi@ v

(B) ©MH HeIdH A

(C) ®H =R T fo=aR

(D) ¥ usTe

O SIS MIER, Teleith] I

faum sifyenaa grm@ faum eme ?
(A) W 5e8

(B) HHIHh T4 3Hdl

(C) v a7l

(D) 3% &l

4

TRafafrsd Iseleely[’ ALl

ECAE = ER N EA IR AR L BRC TR

1
2
-~

IO IR0 T HIdd 2
(A) IO

(B) e sfeH

(C) I @ HRLES

(D) fema wrEd

A Hd, AEE WEY ST

(A) T FTIUERU HH{Hh  Saw
(B) =i

(C) =nfer=h

(D) FAATHS
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55.

56.

57.

Which of the following specific views

is problematic according to Quine ?

(A) Each be

confirmed or disconfirmed in

statement can

isolation

(B) Each statement cannot be
confirmed or disconfirmed in
isolation

(C) Truth value of empirical
statements can be redistributed
(D)

Empiricism is not a consistent

view with the theory of meaning.

Husserl’s aim was to discover the

foundations of ................... through

Phenomenology.

(A) Mathematics

(B) Logic

(C) Knowledge and Experience
(D) Metaphysics

According to Heidegger, the Dasein
is :

(A) Philosophical subject

(B) Existing Being

(C) Phenomenological self

(D) Subjective being

55.

56.

57.

APR - 12224/11—A
FAETA W, @IefiadsR! wom fafirse
gfeehe THEHE TR 7
(A) Y& fI9M WAl TSN SUATSIRT
fepa goU 9 AUANIA ST
(B) Ui fa9M waasrdul TSRl UATsIy
fohal ST 9 QAR A&

(C) squfas faemArd weaarqed

AT el A

(D) STIVEETE BT AT ITTALN LT
gftesa Fe

TS IGCRITIR AT AR
AW I IEIYA dwe T S ?

(A) T

(B) ThIMEA

(C) AM o Sywa

(D) wHEreq |

TISTAT W, ‘S WU

(A) ek foroeil/aeermimcres Tt
(B) af&fcoiiel &l

(C) AFTEEANTE T ‘g’

(D) fowfturel @
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58.

59.

60.

61.

Sartre’s bad faith is a/an :

(A) Unconscious lie

(B) Conscious lie

(C) Spoken lie

(D) Censored lie

William James’ theory of truth

suggests that a proposition is true

if it can be :

(A) Verified

(B) Assimilated and validated

(C) Corroborated and verified

(D) Assimilated, validated,

Corroborated and verified

Nietzsche’s approach to modern
western philosophy provokes him to

claim that :

(A) World is nothing but appearance
(B) The real world is ‘the only truth’
(C) The ‘real’ world is a lie

(D) World is both appearance and
reality

The two administrative pillars in the
constituents of state according to

Kautilya are :

(A) Swami and Purohita
(B) Swami and Amatya
(C) Amatya and Adhikari
(D) Swami and Adhikari

58.

59.

60.

61.

APR - 12224/TI—A
el STIHEHT WRUN
(A) &Y T
(B) AemcHER TEA
(C) =f=res 319
(D) T A

foreay ST gl 399w 39 gafad

& 99 ¥ 9d WX d
(A) FAuq I Ed
(B) THIfa®= & YUV 314

(C) qfecrl & Heua T8

(D) THIferse, YU, giteqrlt 9 gH1fe
ST

EEE RIS Fe N RN EERED

gfeeehe I THeh hd HHTEAH ST

F ?

(A) ST 7 %@ NI T

(B) =rde S ¥ ‘THHA HA' B
(C) ‘=r&qd’ WM B UH A’ B
(D) S § MY 318 9 areqddiel 8

W NN
chllecH=il AdITHIL vzl t=dlal a_"f

WY MUY RIS

(A) @ 9 qlfed

(B) @Ht 9 39T
(C) Mg 9 Al
(D) = g R
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62. The state policy articulated by 62. Hfrem Tiead TSEE HNOT AR
Kautilya is based on :
(A) Acquisition of new dominion ul I
]- Fa L™ 3.3 ‘
oy (A) TEM YT HUEH
(B) Preservation of own dominion
only (B) &= Qe S
(C) Acquisition and preservation of ' '
dominion (C) URTM= HURT & HEW
(D) Warfare for increasing the D) @f - 5 .
treasury
63. The theoretical roots of Sarvodaya | 63. Haear= g Hes HE
can be traced back to : 3TEe3Td.
(A) the Vedic and Vedantic thought (A) g 9 I fommem
(B) the Puranas (B) I
(C) the Manusmriti (C) At
(D) the Arthashastra (D) HHTTE
64. According to Kautilya, the four-fold | 64. wifeeammn HATTHR TSI <hIFET=AT
source of the State law contains : ﬂ'g’%lﬁ rgesy o T TR
(A) Dharma, Vyavahara, Samstha
Bl
and Nyaya
(B) Swami, Vyavahara, Samstha (A) YH, HER, 9% 9 =9
and Nyaya )
(B) T@Hl, =HER, W1 § =4
(C) Ishwara, Vyavahara, Samstha
and Nyaya (C) IYoR, FOER, TEq J <™
(D) Paurajana, Vyavahara, Samstha . .
(D) YISH, SgdgR, 931 9 =
and Nyaya
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65.

66.

67.

Swadeshi, according to Gandhi’s
conception of it, is opposed to which

one
(A)
(B)
(&)

of the following ?

Mill-made cloth

Traditional techniques
Manufacturing machines in the
country

D)
According to both Arthashastra and
Mahabharata, the activity of the

state is related to human life with

Labor saving machines

respect to :

(A) Social, economic and religious
aspects

(B) Social and economic aspects

(C) Social and religious aspects

(D) Only legal aspect

According to Gandhi, which of the

following is not an assumption

underlying the doctrine of

satyagraha ?

(A) It begins and ends with civil
disobedience

(B) It requires rendering heart
discipline to the commander

(C) It requires being prepared to
lose everything that one may

possess, including life
(D) Tapascharya is the essence of

satyagraha

65.

66.

67.

APR - 12224/T1—A

TMeffen ‘wRv’ Heheqadr YErerie]
FYmel foliy omg ?

(A) TiRviidrel TS

(B) 9Rufa o

(C) Sema === Mt =

(D) =¥ ST 3

I & FRIIRA AT Qer=Al HATTHR
TSGR HFE ST TR Haief
1 el fifed o

(A) gmifseh, oTfées o enffe

(B) W ifssh & amfén

(C) @IS o =nfie

(D) Hdawm ToATh

e HATEm Eferich! hivid ‘ Heme’

e E M e i |

(A) T RY 9 37 Wi RESHTH
il

(B) THMEH AT BeaeY ¥ He
FX0 TATAR 3T

(C) wImmed SHeAHEd e THEEr= |
TR ST ST S8

(D) T99=El T TR 9R 3R
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68. Bhishma declares a king to be a | 8. A TeTER TSl A1 Sehes =
maker of his epoch through : T el SE S I
(A) His descend from Divine origin
(B) His supreme social hierarchy (4) = Tl s
(C) Degree of fulfillment of his (B) = Hated M SOf
functions (C) /=1 HEIa= e
(D) Degree of his application of
dandaniti (D) A=A S ST = SUHRTSHTE! Tt
69. In the state policy of Bhishma, there | 69. 0= TS-GROMET R AT IR
is focus on : (A) TeEd T T
(A) Rajadharma and Dandaniti (B) T 5 et
(B) Rajadharma and Nitidharma
(C) Dandaniti and Nitidharma (C) sFital ¥ e
(D) Rajadharma and Yuddhashastra (D) TS ISIME
70. According to Kautilya, the essence | 70. wifeear=am AR JRIEATS HR U
of governance is : (A) F
(A) Kosha .
(B) Danda B ==
(C) Swami (©) =i
(D) Mitra D) fra
71. In The Republic, Socrates, tells 71, fogsefies = greq, I HishfeH
.................. that justice is the same AT Tt SR S T = e
for both individual and state. — HTH s
(A) Glaucon (&) el
(B) Cephalus Ei; e
(C) Adeimantus
(D) Polemarchus D) SRR,
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72.

73.

74.

Which among the following is a
reason for war in the Hobbesian

state of nature ?

(A) Competition for same goods
(B) Calamities

(C) Fear of God

(D) Lack of Natural law

Dialectical movement 1is the

coexistence of two

(A) Parallel

(B) Classes

(C) Complimentary
(D) Contradictory

In the essay, “What is Equality
Part-1I : Equality of Resources”,

Ronald Dworkin considers :

(A) The claims of equality and

welfare
(B) The claims of treating people as
equaly
(C) The competing claims and
equality of resources
(D) The claim of equality and

resources

72.

73.

74.

APR - 12224/TT—A
Biequford = Tsarda g HRul
QAT UM A8 ?
(A) THF IEHES A
(B) &ATaeT
(C) Y= 94

N~ o

(D) =ETeR 1

...............

SEIcHh To5des US| S
el 2.

(A) HHIR

(B) i

(C) TR Y=

(D) =ATEmT

"'=ie 39 THRIfAR-URe T & TRIferel HTh
fade ' o T IeTes gt A

a1 fo=m wen o
(A) gHEAT 3T oo <™

(B) TR SHIT ST SUATfersei=
)

(C) T 2A1for SRt -
feriedt <

(D) A enfor gEreEfeasEe €e
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75.

76.

According to Amartya Sen, a theory

of justice has to accommodate :
(A) Homogenous virtues

(B) Social unity

(C) Plurality of reasons

(D) Ambiguity of morality

According to Marx, in capitalist

societies, labor is expropriated and

75.

76.

APR - 12224/T1—A

£ s ~ LA
A T AT HAlAMIR, I MGl

....................

ol HMHEA =TT st

(A) S F

(B) HHISTSh ekl

(C) GRS HRUM= STTehdl

(D) foer=i wferem

A= gd OTSae¥lEl gaeReEqd,

AT o e o TUed e e

transmuted into : g qq FHIOAE I
(A) Exchange value (A) fafa qe
(B) Value (B) T3
(C) Work (C) =M
(D) Industrialization (D) et
77. The charge of misogyny against | 77. 31&Elee Sigw STHAM AT ==
Aristotle is based on his view that 1 WAL S 3718 shi Foramed ==
women lack : AW STHA covvvrrinnnnins :
(A) Authority (A) SAIHR
(B) Emotion (B) «ran
(C) Sincerity (C) grHIfoTshTom
(D) Reason (D) dHH!
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78.

79.

80.

In feminist discourse, the term
“gender” has the following two

cannotations :

(A) Physiological and biological
(B) Male and female

(C) Sexual and asexual

(D) Cultural and psychological

According to Charles Taylor, we
have a continuing politics of equal

recognition on the ................... .

(A) Private plane

(B) Social plane

(C) Political plane

(D) Cultural plane

Which of the following is considered
as Isaiah Berlin’s influential essay
of twentieth century political
philosophy ?

(A) Two Concepts of Liberty

(B) Equality, Value and Merit
(C) Justice and the Good

(D) Theories of Justice

78.

79.

80.

APR - 12224/T1—A

SR foaneea ‘famma’ @ e §
T TR T SR

(A) IS 0 SeaRmesd
(B) 9o amfor it
(C) wifier amfor ereifies

(D) HiEhides A0 AFEETE

ooy AT HATYH, Wefie TR
A9 ATEdd USHRO Faq 9Te]
I

(A) @il &R

(B) @ISR &R

(C) T T

(D) HiEapiah WY
[ERICINRCAMGRIEEIR I RIEI CHC U]
iy gEmn ST gEee e A
S ?

(A) WA S GahedHl
(B) HHM, Hed SAIM0T T
(C) =™ ol g

(D) —=mafasEer ST
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81.

82.

83.

84.

An argument in which a universal
conclusion is derived from particular

premises is called :

(A) Valid deductive argument
(B) Good inductive argument
(C) Deductive argument

(D) Inductive argument

Which among the following is not
a law of thought ?

(A) Law of Identity

(B) Law of Non-contradiction

(C) Law of Excluded middle

(D) Law of Uniformity of Nature

‘Many fruits are sweet’ is an example
of :

(A) Universal affirmative proposition
(B) Universal negative proposition
(C) Particular affirmative proposition
(D) Particular negative proposition

Two categorical propositions having
the same subject and the same
predicate are ............. , if they cannot
both be true and cannot both be false

are called .................
(A) Contradictory
(B) Contrary

(C) Sub-contrary

(D) Subalternation

81.

82.

83.

84.
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fergroer=i sTaRfeemIT FearE R =1

FfFTETRTd STl ST, el 37 WM :

(A) 39 TmiE e
(B) 3fud smmfye Ffwmeame
(C) T e

(D) i Ffwar

K N} o o) o n
Jelciten] onlUIdl Ta<=RlEl 1149 Alol ?

(A) dEre=mET FEm

(B) SAM™@=T TEH

(C) afera mega=n 79

(D) = TwmETdEr W

‘ol wes HYT SRA’ § SRR e—
(A) wefer= Breprefl fagm

(B) wefame el fagmm

(C) fomomar=ht Frermed foem=

(D) fagrem=t Forret faumm

T IRIMe 110 A fatede st
g freafys faym R wweEEd @

3T TR THdTe T TehTaoles! STHAR]
3T ¥ehd THAIA L @A S U

(A) =mEm
(B) fertredt
(C) Su-fadre
(D) SUeAt&rdd
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85.

86.

87.

In a valid categorical syllogism, the
term that must be distributed at

least once is the premises is :

(A) Major term

(B) Minor term

(C) Middle term

(D) Quantifier

Recognized the rule expressed by

the following statement-form :
(p>9)=(-9>-p)

(A) Exportation

(B) Association

(C) Transposition

(D) Distribution

If a contradictory is denied resulting

propositional form is :

(A) Contradictory

(B) Tautology

(C) Contingent

(D) Probable

85.

86.

87.
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Fy freurtya 9faummr snurfausE
Tl i foaia eroee wfest o1 ® wg
B

(A) &g 95

(B) 98 U<
(C) 799 Ug

(D) TEIATTH

TRra faureuda f=m siesen .
(p>9)=(~g>-p)

(A) «fEwR

(B) HedsieH

(C) = =fieh

(D) Taawo

SR SATErET oY e ) Hemied gom
faurmey e/ s/

(A) =EE/Ied; 9 faurey
(B) ¥ad: ¥
(C) Sfafaeraa T

(D) FuH
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88. Match List I and List 1T and Select 88. W I 3:“'&'[ *i\tn 11 qi-oe“ gﬂsq‘” \11:060”

th ¢ from the cod o i 2
€ correct answer irom the codes it feeren Hehdaiqa A TaE et
given below :
gt 1

(@) Rule of Universal Instantiation (@) S IGED SETeLuh o=l THeH
(UD

List I

(b) diferss FER=RLOM=T fEY

(b) Rule of Universal Generalization

UG) (c) e SR f2m
(¢) Rule of Existential Instantiation ) ST ST fem
(ED)
(d) Rule of Existential Generalization E\;ﬁ- I
EG) @) x) (px) ..dv
List II @) (3x) (@x) .. ¢a
@) ) (¢x) .. ¢v @) v - (Ex) (¢x)
@) (3x) (0x) .. da @) ¢y .. (x) (¢x)
@ii) v . .(3x) (¢x) i |
() ¢y .. (x) (¢px)
Codes : (@ b)) © @
@ &) (© @ A) () G Go) Gi)

(B @ ) ) @) B) Gv) Gi) Gii) G)
B) Gv) Gi) i) )
©) G G) Gi) )
© @ G) Gi) )

M) @ Gv) @) @) D) @ Gv) @) @)
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89.

90.

91.

From the set of axioms and proved
theorems, if it is impossible to derive
both a statement and its negation
then that axiomatic system is said
to be :

(A) Independent

(B) Consistent

(C) Complete

(D) Complex

The fallacy committed in the
following argument is ..........
extinguishes fire. Oxygen is a part
of water. Therefore oxygen will
extinguish fire.”

(A) Fallacy of Division

(B) Fallacy of Composition

(C) Argument ad Ignorantiam
(D) Arguing in circle

Which of the following statements
best describes the nature of Applied
Ethics ?

(A) It attempts to answer how
people should act in specific
situations

It is the direct application of
ethical theories regardless of

(B)

real-life circumstances
(C) It raises fundamental questions
about the very nature of ethics
and ethical theories
(D) It attempts to understand and
resolve moral problems that
arise in some domains of

practical life

89.

90.

91.

APR - 12224/TI—A
HATIRI= 2 ST g sheted THarH
3R SR fare™ enfor o= oy =g
TrrsuTfae sheol ST9eRr ST R ol SIS
YISl 319 d
(A) =
(B) ga™
(C) &l
(D) =AfHH

gaiel AR Heiel qehaly 318 ¢

‘ot e faefe. SAtfere & amoETEn
Tk Heh S, WUH SMfRrsHal 3T
(A) fausH

(B) WY e

(C) ©hRIM dehard

(D) FHU Ther™
TTATAdRT Hi1vd faema sg=ifsq

TifaeTeTs 3T ¥R gUiT I 2
(A) faferse ufifeerdia AEFT 4 anme
I IR SUAEN 9 TIA H
(B) weael Stemdre wenren e d

Afde fagia 9 STeE ®d
(C) wifagmea anfor it fagiar=m
TEAAE HEHia o TAYd WA
YR L
(D) © SAEEIE ST HEl A
IRl Afdw THE HESA

U 9 ArefgvarEl 99e d
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92.

93.

94.

95.

Which of the following cannot be an
illustration of ‘technology’ ?

(A) Using sticks to consume foods
(B) Making and using of tools

(C) Designing a spear for fishing
(D) Processing of plastic recycling

Democratization of technology refers
to :

(A)
(B)
(C)

Making technology free
Making technology accessible
Making technological knowledge

free and accessible

(D) Making technological knowledge

easy and accessible

Bioethics does not deal with issues

in the domain of :

(A) Nursing

(B) Healthcare

(C) Veterinary

(D) Personal hygiene

The Hippocratic Oath of the classical

Greece represents which of the

following approaches to bioethics ?
(A) Scientific

(B) Clinical

(C) Economic

(D) Legal

92.
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94.

95.
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WA BV ST AN 3T
Iehd AR 2

(A) TR ERES hIedr=n
IR HLO

(B) SR TR &0 & =] Ao FH)
(C) HEEREE el TIR 0l
(D) YAAIHIE wiedhal Hfshal ol

A SRR '

(A) T TR )

(B) TI9H W9 )
(C) TENfasaeh I Hithd o WU H{0l

(D) dAIoIE M T o TEsTUT &0l

T UehT ShIvTeN & THE =R
SEHIfaeTe Fd TR ?

(A) O Fa

(B) SRE Ha

(C) ugy faferam

(D) Tafrer gyfem

TIEHEnd femweg=i 319
SCEIGNEZINGIRCIRISECARE AR
gt gfaffae ed ?

(A) IS
(B) SEahid
(C) qdzTET

(D) HTEIIMN

33

[P.T.O.



96. What is the difference between the

97.

conservative and liberal arguments

in the context of abortion ?

(A)

(B)

()

(D)

They differ on the stages in

which abortion is permissible

Their views on viability of the

fetus are different

The former is based on the
humanness of the fetus and the
latter on capacities or lack of

capacities of the fetus

The former is based on the
capacities or lack of capacities
of the fetus and the latter is
based on the humanness of the

fetus

The ethical theory that moral

obligations extends to all living

things is :

(A)
(B)
(&)
(D)

Biocentrism
Ecocentrism
Anthropocentrism

Psychocentrism

APR - 12224/T1—A

96. T HEHA JUUHAAR! o SARAAER]

I Tl hIvEl ?

97.

(A)

(B)

()

(D)

SHIVTT ST THUT HLATE STH
S0 AT Aregg e et 7 i
T

T T eI AT
=t A fa emRa

RTHdETETEl foem, Tt Aee
YT S 3T SeRAqarE=
fomm 9= S 9 A9

eTdiay MY 38

SEREdEEE fa=aR Taten A
I RGN L
qRIITETEI fora =T STeere

F THA GHdeR T e

HAHTITIT

EIERE N R RGN SIERIRSIRE]
gl = Afaw fagia =

(A)

(B)

()

(D)

EEEIEGHICIH

TS 0Teh (S adTee

T [GdaTaTg

M (GadqTag
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98. Withholding artificial life support | 98. TfewieXx Than FATHRE= TAARE
such as a ventilator or feeding tube BTOTEA SToid STuaTe A ST F 0]
at the patient’s request is an faadia® Aadauard Ui 2
illustration of : EeleTieh! Hae ST 3G ?
(A) Active voluntary euthanasia (A) wira Ufesh AR
(B) Passive voluntary euthanasia (B) fafswa ufesh <o
(C) Active involuntary euthanasia (C) Wiswa e Tamol
(D) Passive involuntary euthanasia (D) TAfeRa srifesr TamRm
99. In the ethical sequence propounded | 99. el fasites yoftd Jfdeh HHaRITER
by Aldo Leopold, land ethics falls TR Weiadsh! R0 WehR
under the : TS B ?
(A) First element (A) Tigel ®eh
(B) Second element (B) THU =
(C) Third element (C) fauu ==
(D) Primary element (D) wAfHh =Eh
100. What is the primary goal of | 100. Tiivesh HHUSIMET MAHS: I3 H ?
i i i ? o N o ~
philosophical counseling ? (A) TR TS R
(A) Diagnosing mental illnesses
. : (B) W&l MR <0
(B) Providing emotional support
(C) Applying philosophical (C) S Y99 HeavamEst aees
principles to address life issues T I TR
(D) Administering therapeutic )
(D) STERIcHe: Simer=r aR ol
drugs
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ROUGH WORK
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